S conten Grant 1 f D L. 19

SM &UTOMOTIVE

Block C, 1 Kaki Bukit Avenue 6 #01-43 Singapore 417883 Email: SM_AUTOMOTIVE@HOTMAIL.COM Tel: (65) 6747 9241 Fax: (65) 6741 7276

Blk 1 Kaki Bukit Ave 6

RCB No.: 53231488C

04/05/2022

01-43

Singapore 417883

Accident date : 01/12/2021

Estimated repair cost for vehicle no: GBK5854M NISSAN NV200 1.6 (MT) PETROL

CHASSIS: JN1YAAM20Z0001280 (2020)

S/N	Qty	Items	U/price	Amount
1	1	REAR TAILGATE Devec	\$1,978.50	\$1,978.50
2	1	REAR TAILGATE LOCK 2 d	\$287.10	\$287.10
3	2	REAR TAILGATE SHOCK ABSORBER We m	\$211.10	\$422.20 🗶
4	1	REAR TAILGATE INNER TRIM BOARD	\$226.60	\$226.60
5	1	REAR TAILGATE INNER HANDLER ***	\$51.20	\$51.20 *
6	1	REAR TAILGATE EMBLEM LOGO 2	\$79.90	\$79.90
7	1	REAR TAILGATE EMBLEM NV 200	\$125.50	\$125.50
8	1	REAR TAILGATE EMBLEM VANETTE	\$64.20	\$64.20
9	1	REAR BUMPER Deline	\$498.50	\$498.50
10	2	REAR BUMPER SIDE RETAINER	\$55.10	\$110.20
11	1	REAR BUMPER SPONGE (MILLE	\$138.80	\$138.80 -
12	1	REAR BUMPER TOW COVER W	\$28.10	\$28.10 🔻
13	1	REAR WEATHER STRIPE	\$104.80	\$104.80 ~
14	1	REAR END PANEL INNER Brieferd	\$840.40	\$840.40
15	1	REAR END PANEL OUTER Devel	\$264.20	\$264.20
16	1	REAR END PANEL TOP GARNISH Del-	\$85.60	\$85.60
17	2	REAR TAILLAMP Grund	\$227.20	\$454.40
18	2	REAR TAILLAMP SIDE LOCK STOPPER NEW	\$18.20	\$36.40 🗶
19	2	REAR TAILLAMP PANEL RH 2M	\$554.30	\$1,108.60 +
20	2	REAR TAILLAMP INNER PANEL RH	\$634.50	\$1,269.00 *
21	2	REAR FENDER Not M	\$1,799.70	\$3,599.40 🗶
22	2	REAR FENDER OUTER AIR VENT 7	\$87.50	\$175.00 🗶
23	2	REAR FENDER INNER AIR VENT	\$99.10	\$198.20 🖈
24	2	REAR FENDER INNER PANEL	\$651.40	\$1,302.80
25	2	REAR FENDER INNER SHIELD	\$125.10	\$250.20 \(\tau\)
26	1	REAR FLOOR PANEL	\$2,668.40	\$2,668.40 🗶
27	1	REAR SPARE TYRE BRACKET	\$284.30	\$284.30

GBK5854M NISSAN NV200

28	1 REAR SPARE TYRE LOCK SCREW ZM	\$38.50	\$38.50 ×
29	1 REAR SPARE TYRE LOCK	\$53.50	\$53.50 +
		TOTAL:	\$16,744.50
		LESS 10 %	\$1,674.45
		SUB-TOTAL :	\$15,070.05
S/N	Qty ITEMS / SPECIAL NETT	U/price	Amount
1	1 REAR BUMPER CLIPS New	\$80.00	\$80.00 30.
2	1 REAR TAILGATE INNER TRIM BOARD CLIPS New	\$60.00	\$60.00 +
3	2 REAR TAILLAMP CLIPS New	\$15.00	\$30.00 /
4	1 REAR WINDSCREEN GLASS SEALANT Nu	\$120.00	\$120.00 60
5	1 REAR END PANEL SEALANT New	\$100.00	\$100.00 60
6	1 REAR TAILGATE 70KM/H STICKER New	\$25.00	\$25.00 /0
7	1 REAR TAILGATE 6 PAX STICKER	\$25.00	\$25.00 10
8	1 REAR FLOOR PANEL TOP PLY WOOD Govern	\$600.00	\$600.00 *
9	1 REAR FLOOR PANEL TO RUBBER MAT	\$650.00	\$650.00 ~
10	1 REAR FENDER SEALANT	\$80.00	\$80.00 €
11	1 REAR REVERSE SENSOR	\$280.00	\$280.00 200
		TOTAL PARTS	\$17,120.05
Lab	our charges		Sw-
1	LABOUR FOR PANEL BEATING		\$1,400.00
2	LABOUR FOR SPRAYPAINTING		\$1,200.00 6
3	LABOUR FOR REMOVE & TRANSFER REAR WINDSCREEN GLASS		\$150.00 12
4	LABOUR FOR REPAIR & STRAIGHTEN BOTH REAR CHASSIS FRAM		\$500.00
5	WIRING CHECK		\$80.003
6	TO APPLY RUST PROOF / TUFF COAT ON ACCIDENT AREAS		\$300,006
7	LABOUR FOR REMOVE & TRANSFER ALL REAR TAILGATE FITTING	G	\$200.00 %
		Subtotal :-	\$3,830.00
	LKK Auto Consultants hence notify the Repairer of the following:		
	 To resurvey before/after spray painting 	Total:-	\$20,950.05
	To display damaged part(s) during resurvey Parts prices are subject to confirmation	Ada	('
	 Third party survey is on a "Without Prejudice" basis 	14010	(1)(12)
	 No illegal modification(s) is allowed Supplementary item(s) must be resurveyed and 	1/5	ر عر الداد
	is subject to final approval from Insurance Company	ε	6 Pays.

nowledged Repairer

> Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

Vehicle Owner Particulars		
Owner ID Type:	Singapore NRIC	
Owner ID: Vehicle Details	0001	
Vehicle No.:	GBK5854M	
Vehicle to be Exported:	No	
Intended Deregistration Date:	04 May 2022	
Vehicle Make:	NISSAN	
Vehicle Model:	NV200 1.6 (MT) PETROL	
Primary Colour:	Black	
Manufacturing Year:	2020	
Engine No.:	HR16173906D	
Chassis No.:	JN1YAAM20Z0001280	
Maximum Power Output:		
Open Market Value:	\$16,406.00	
Original Registration Date:	17 Sep 2020	
First Registration Date:	17 Sep 2020	
Transfer Count:	1	
Actual ARF Paid: Intended PARF Rebate Details	\$821.00	
PARF Eligibility:	No	
PARF Eligibility Expiry Date:		
PARF Rebate Amount: Intended COE Rebate Details	\$0.00	
COE Expiry Date:	16 Sep 2030	
COE Category:	C - Goods Vehicle & Bus	
COE Period(Years):	10	
PQP Paid:	\$21,926.00	
COE Rebate Amount:	\$18,344.00	
Total Rebate Amount:	\$18,344.00	

The information contained herein is correct as at 04 May 2022

SGCARMART.COM

Login Sign up

New Cars Rental Cars Sell My Car Directory Products Articles Insurance Forum Resources

> Stream it all on HomeHub+

> > Ways of Selling

Model

SAVE OVER \$314/year

Post an Advertisement Sell it yourself! Advertise it at just \$68 until it's SOLD! al! Fast Selling! Hurry Down Now!

Classic Credit

YONG LEE SENG MOTOR PTE LTD

9 vehicles

Post an Ad

nv200

Depreciation

Reg Date

Eng Cap

Any Category

Sort by Date Posted

Advanced Search

Veh Type

20

Status

results/page

Search Selection

nv200

Make

Advertiser Login

Price

2020

Any

Anv

Any

Available

Nissan NV200 1.5M

\$70,000

\$8,860 /yr

30-Mar-2020

1,461 oc

7,200 km

Available DIRECT OWNER

Fuel Type: Diesel

Last Batch Of Diesel NV200! Vo Longer In Production! Grab It Before You Can't Found Any In Market! Original Tip Top Condition With Low Mileage! Fully Maintained By Tan Chong Motors. 5 Years Warranty From Day 1! Original Factory Paintwork! Come With Side Glass For Re.

Posted: 07-May-2022



Nissan NV200 1.5M

\$69,800

\$8,620 /yr

09-Jun-2020

1,461 cc

66,800 km

Available

Fuel Type: Diesel

Final batch of diesel NV200. Tip top condition with low mileage. Flexible loan and trade in available. GST inclusive!

Tan Wei Auto Pte Ltd

Fuel Type: Petrol

Posted: 19-Apr-2022



Nissan NV200 1.6A DX

\$64,800

\$7,910 /yr

17-Jul-2020

1,598 cc

39,277 km

Van

Available

Low mileage of 39277km done only. Easy in house loan available. Please call to arrange for viewing thank you.

Posted: 28-Apr-2022



Nissan NV200 1.5M

\$72,800

\$8,870 /vr

21-Jul-2020

1,461 cc

36,654 km

Available

Fuel Type: Diesel

Excellent condition 9/10. Low mileage vehicle at 36654km. 1 owner only. We provide up to 100% in house loan available! High trade in are welcome! Call us for appointment to view!

ABWIN (1994) Pte Ltd

Posted: 07-May-2022



Launch of the new Mercedes-Benz C-Class

Mercedes-Benz has lifted the covers off the all new Mercedes-Benz C-Class, with two trims currently available at launch - AMG Line and Avantgarde.

Find out more!



Nissan NV200 1.6A

\$59,800

\$7,240 /yr

08-Aug-2020

1,598 cc

Van

Available

Fuel Type: Petrol

Auto Gear Midsize Van With Only 1 Owner! Under Tan Chong Motor 3 Years Or 100,000km Warranty! Well Maintained And Service By Agent! Still In Excellent Functioning Condition! Don't Miss Out This Reliable And Easy To Maintain Cargo Van! Full Loan Available And Tra.

Posted: 04-May-2022



Nissan NV200 1.6A DX

\$58,800

\$7,100 /yr

17-Aug-2020

1,597 cc

Van

Available

Fuel Type: Petrol

\$0 Down And Full Loan Available, Car From \$6XX/Month Only, Bad Credit And Discharged Bankruptcy Accepted. All Cars With Warranty. We Have Interest From 1.88%. Open Daily Till 11pm Including Sunday And PH. Call/WhatsApp To Set Appointment. Online Pre Loan Sub..

5/7/22, 3:03 PM

Nissan NV200 1.6A

\$61,888

100% financing from bank or in-house available! Agent's unit with warranty intact! Viewing by appointment only,

28-Sep-2020

Used nv200 Cars | Singapore Car Prices & Listing - sgCarMart

1,598 cc

28,388 km

Van

Available

Fuel Type: Petrol

Posted: 14-Apr-2022

\$7,370 /vr

PREMIUM AD

Nissan NV200 1.6A

Posted: 06-May-2022

\$64,777

\$7,680 /yr

Cheaper than rent! Extremely well maintained unit with low mileage. Pristine condition in and out, super clean and almost flawless.

13-Oct-2020

1,598 cc

Van

Available

Practical and reliable unit for your day to day travel. 100% loan available! High trade in available, call for a no obligation test drive and vi.

Fuel Type: Petrol

Nissan NV200 1.6A DX

\$62,800

\$7,260 /yr

28-Dec-2020

1.597 cc

18,000 km

Van

PREMIUM AD

Available

Fuel Type: Petrol

1 owner unit, low mileage done. GST inclusive. Flexible loan available.

Posted: 04-May-2022

Save this search criteria, to get email alerts whenever a match is found.

Make

Model

Price

Depreciation

Reg Date

Eng Cap

Mileage

Veh Type

Status

For old advertisements, view Expired ads

results/page

Buy / Rent Cars	Sell Your Car	Aftermarket	Articles	General
New Cars For Sale	Post an Ad	Workshop Directory	Car Reviews	About Us
Used Cars For Sale	Sell by Bidding	Aftermarket Products	Car Advice	Contact Us
Cars For Rent	Sell by Consignment		Car News	Careers
			Car Features	Site Map

Resources

COE Prices

Car Forum

Car I oan Calculators

Car Insurance

Used Car Warranty

Car Valuation

COE Renewal

Bidded Carplates

Carpark Rates

Follow sqCarMart.com



















sgCarMart is the number one car classifieds for parallel import cars, Toyota, Honda, Nissan, Mitsubishi & BMW. There are plenty of cars for sale, from vans, trucks, sedan cars, luxury cars, sports cars or stationwagons SUV, MPV, hatchback, to COE cars & OPC cars. You can also buy from a car auction, look up car loans, low mileage cars, car brands, carpark rates & car insurance. Find buy used nv200, nv200 Singapore, used nv200 Singapore, used nv200, used vehicles Singapore or even buy used nv200 Singapore. We have new car dealers comprising parallel importers, authorised car dealers, and used car dealers on our site. Find new car price lists, new car launches and new car promotions. Visit our partner sites "or Job openings for Singapore Jobs, real estate, mover, car performance parts, car discussion, forum discussion, commercial vehicle leasing & COE results

All prices and other information displayed on sgCarMart com are gathered from sources and based on algorithms that are believed by sgCarMart.com to be reliable, but no assurance can be given that this information is accurate, complete or current. sgCarMart.com does not assume any responsibility for errors or omissions or warrant the accuracy of this information.

Terms of Service Privacy Policy Personal Data Protection Statement ©2004-2022 sgCarMart, Singapore. All rights reserved.